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Linux opt

Linux pgo

Linux debug

Linux x64 opt

Linux x64 pgo

Linux x64 asan
Linux x64 debug

OS X 10.6 opt

OS X 10.6 debug
OS X 10.7 opt

OS X 10.7 debug
OS X 10.10 opt

OS X 10.10 debug
Windows XP opt
Windows XP pgo
Windows XP debug
Windows 7 opt

Windows 7 debug
Windows 8 x64 opt

Windows 8 x64 pgo

Windows 8 x64 debug
Android 2.3 API9 opt
Android 2.3 API9 debug
Android 4.0 API11+ opt
Android 4.0 API11+ debug
Android 4.2 x86 opt
Android 4.3 API11+ opt
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? ? B Cpp Jit1 Jit2 Mn Mn-e10s Wr X M(12 3 4 5 JP bc1 bc2 be3 bed be5 be6 be7 dt1 dt2 gl oth p) M-e10s(1 2 3 4 5 be1 be2 be3 be4 be5 beé be7 dt1 di2) R(C J R1 R2 Rui Ru2)
R-e10s(C R-e10s) T(cdgi g2 o stp) T-e10s(cd g1 g2 o stp) W(123 4)

? ? B Cpp Jit1 Jit2 Mn Mn-e10s Wr X M(1 2 3 4 5 JP bc1 bec2 be3 be4 be5 be6 be7 dt1 di2 gl oth p) M-€10s(1 2 3 4 5 be1 be2 be3 be4 be5 be6 be7 di1 di2) R(C J R1 R2 Ru1 Ru2)
R-e10s(C R-e10s) T(cdgi g2 o stp) T-e10s(cd g1 g2ostp) W(1234)

B Cpp Jit1 Jit2 Mn Wr X1 X2 M(1 23 4 5 bc1 bc2 be3 be4 bCSD bc7 dt1 di2 dt3 dit4 dt5 di6 dt7 di8 gl oth p) M-€10s(1 23 4 5 bc1 be2 be3 be4 be5 be6 be7) R(C J R1 R2 R3 R4
) R-e10s(R-e10s1 R-e10s2) W(123 456 7 8)
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? ? B Cpp Jit1 Jit2 Ld Mn Wr X M(+18) M-e10s(1 2 3 4 5 bc1 bc2§ce3 bed be5 be6 be7 di1 dt2) R(C J R1 R2 Ru1 Ru2) R-e10s(C R-e10s) T(c d g1 g2 o s tp) T-e10s(c d g1 g2 o
stp) W(1234) :
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£ [ $J R) T(cg1g205stp) W(1234)
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B Cpp Jit Mn Wr X M(1 23 45 JP bei bc2Dbc4 bc5 be6 be7 di1 dt2 dit3 dtd gl oth p) R(CJR)W(12345678)

B X1 X2 X3 M(1 234567891011 1213 14 15 16 c gi1 gI2 gI3 gl4 rc1 rc2 rc3 rc4) R( C1 C2 J1J2 J3 J4 J5 J6 R1 R2 R3 R4 R5 R6 R7 R8 R9 R10 R11 R12 R13 R14 R15 R16)

B
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TEPS and Tricks



Going Backwards

(rr) reverse-step
(rr) reverse-next

(rr) reverse-finish



1991 JSObjectx*
1992 JSStructuredCloneReader: : readSavedFrame(uint32_t principalsTag)

1993 {

1994 RootedSavedFrame savedFrame(contextf§ll, SavedFrame::create(context()));

1995 if (!savedFrame)

1996 return nullptr;

1997

1998 JSPrincipals* principals;

1999 if (principalsTag == SCTAG_JSPRINCIPALS) {

2000 if (!context()—>runtime()—>readPrincipals) {

2001 JS_ReportErrorNumber(context(), GetErrorMessage, nullptr,

2002 JSMSG_SC_UNSUPPORTED_TYPE) ;

2003 return nullptr;

2004 }

2005

2006 if (!context()->runtimei)—>readPrincipals(context(), this, &principals))
2007 return nullptr;

2008 } else if (principalsTag == SCTAG_RECUNSRUCTID.SAVED_FRAME_PRINCIPALS_IS_SYSTEM) {
2009 principals = &ReconstructedSavedFramePrincipals::IsSystem;

2010 principals—->refcount++;

2011 } else if (principalsTag == SCTAG_RECONSTRUCTED_SAVED_FRAME_PRINCIPALS_IS_NOT_SYSTEM) {
2012 principals = &ReconstructedSavedFramePrincipals::IsNotSystem;

2013 principals—>refcount++;

2014 } else if (principalsTag == SCTAG_NULL_JSPRINCIPALS) {

2015 principals = nullptr;

2016 } else {

2017 JS_ReportErrorNumber(context(), GetErrorMessage, nullptr,

2018 JSMSG_SC_BAD_SERIALIZED_DATA, "bad SavedFrame principals");
2019 return nullptr;

2020 }

2021 savedFrame—>initPrincipalsAlreadyHeld(principals);

2022

2023 RootedValue source(context());

2024 if (!startRead(&source) || !source.isString())

2025 return nullptr;

2026 auto atomSource = Atom. eString(coiitcnei}psaurce.toString());

2027 if (latomSource)

2028 return nullptr;

2029 savedFrame->initSource. tomSource;;

2030

2031 RootedValue lineVal(context());
2032 uint32_t line;

2033 if (!startRead(&lineval), || !lineVal.isNumber() || !ToUint32(context(), lineVal, &line))
2034 return nullptr;

2035 savedFrame->initLine(i. e);

2036

2037 RootedValue columnVal(context());
2038 uint32_t column;

2039 if (!startRead(&columnVal) || !columnVal.isNumber() || !ToUint32(context(), columnVal, &column))
2040 return nullptr;

2041 savedFrame—>initColumii O LUy,

2042

2043 RootedValue name(context());

2044 if (!startRead(&name) |! !(name.isString() || name.isNull()))

2045 return nullptr;

2046 JSAtomx atomName = nui . tr;
2047 if (name.isString()) {

2048 atomName = AtomizeString(context(), name.toString());

2049 if (latomName)

2050 return nullptr;

2051 }

2052 savedFrame—>initFunctionDisplayName(atomName) ;

2053

2054 RootedValue cause(context());

2055 if (!startRead(&cause) || !(cause.isString() || cause.isNull()))
2056 return nullptr;

2057 JSAtom* atomCause = nullptr;
2058 if (cause.isString()) {

2059 atomCause = AtomizeString(context(), cause.toString());
2060 if (latomCause)

2061 return nullptr;

2062 }

2063 savedFrame—->initAsyncCause(atomCause);

2064

2065 return savedFrame;

2066 }



How dAid qek P?

(rr) watch *(void*x) &thing->member

(rr) reverse-continue
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